





STATICTICS 2023 EXAM THREE SPRING 2010 PAGE 3.
STATE THE ANSWER. State the answer on the line given. 3 points each
Assume that a random sample of six savings accounts was drawn. The balance of money in each
savings account is listed below. Use this data to address the next four questions.

$140, $88, $220, $380, $160, $110

/f'; 20. What is the numerical value of the point estimate for the mean balance for
the population of savings accounts based on the above six observations?
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/0 6 égé 21. What is the numerical value of the point estimate for the standard deviation

for the population of savings account balances from which this sample was drawn? Round to 3
R

digit t the decimal. —
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= /06.6864565

/7‘5 22. If the standard deviation for the sample of savings account balances is $110
then what is the numerical value of the estimated standard error for the point estimate for the
mean savings account balance? State your answer to the nearest whole dollar.
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f( 2 ao 2 7? 72 23. If the estimated standard error for the point estimate for
the mean savmgs account balance is $48, then what is a 90% confidence interval to estimate the
mean savings account balance based on the above data? State with two digits past the decimal.

¥z ‘t,ﬁ(g) 5; = (831 2.0/5(%5) =b 1837 94.72 > (54.28 279, 72)

Assume a sample of 1200 college students were questioned about whether they ever send and
receive text messages while they drive. Out of the sample of 1200 observations, 876 indicated that
they did text while driving. Use this information to address the next three questions.
72 M=/ 200 X= &£7%
¢ 24. What is the numerical value of the point estimate for the proportion of
college students who text while they drive based on the above data?
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‘ 25. What is the numerical value of the estimated standard error for the point
estimate for the proportion of college students who text while driving based on the above data?

Round to four digits past the decimal. A A
73(7-,7
Sp= F m . 0/28 /6405

. 0‘2 L/Q 26. What is the bound of error for a 95% confidence interval to estimate the
population proportion of college students who text while they drive based on the above data, if the
estimated standard error for the point estimate for the proportion is 0.0125? State four digits past

the decimal.
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STATISTICS 2023 EXAM THREE SPRING 2010 PAGE 4.
HYPOTHESIS TEST QUESTIONS. State the answer on the line. 3 points each
A manufacturer of laundry soap labels the soap bottles as containing 15 ounces. A random sample
of twenty-five bottles of the laundry soap off the manufacturing line produced a mean of 15.2
ounces with a standard deviation of 0.25 ounce.

/M ] 27. State the alternative hypothesis if the research question is "Do the data
support the idea that the mean weight of the laundry soap bottles is more than 15 ounces?"

/f

28. State the numerical value of the test statistic that would result from this

situation. X- A, /5. 2 . /%
A S T zs =7
X
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29. What is the name of the distribution that represents the set of possible test
statistic values if in fact the mean weight of the laundry soap bottles is 15 ounces?
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[, 711 30. The null hypothesis in this situation would be rejected at the 5% level if the

e 5
test statistic is more than what value? / T}(Z‘f’)

0 i

70
001, 007

31. Assume that the value of the test statistic in this situation is 3. The p-value
associated with the test statistic value of 3 is between what two values?

A==

27?7 3 2,447

}w 32. Assume the p-value in this hypothesis test is 0.002. Would the null
hypothesrs be rejected at the 1% significance level in this case? Answer with a YES or NO.

P=.002 < .0/ = o«c = Ry, e

%M 33. Assume the p-value in this hypothesis test is 0.002. Do the data indicate that
the average weight of the laundry soap bottles is more than 15 ounces at the 1% significance level
stated above? Answer with a YES or NO.
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